
Attendant Operated Wheel Locks
12" Wheels Only



Attendant Operated Wheel Locks
12" Wheels Only

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1025765 Locknut (1/4-28) 1 41
1080551-NLA NLA - Strap, Wheel Lock 1 12
1028411-NLA NLA - Spacer (1/4 x 1/2 x 5/32") 1 13
1055306-NLA NLA - Screw, Button Head Cap (1/4-28 x 7/8") 1 14

1026103 Washer, Nylon (1/4 x 1/2 x 1/32") 1 85
1080615-NLA NLA - Link, Wheel Lock, Black - Right 1 16
1080616-NLA NLA - Link, Wheel Lock, Black - Left 1 16

1083099 Screw, Socket Button Head (1/4-28 x 1-1/2") 1 17
1055304 Screw, Socket Button Head (1/4-28 x 5/8") 1 28

1020363-NLA NLA - Spacer (1/4 x 1/2 x 1/2") 1 19
1018733-NLA NLA - Link, Stop, Black 1 110
1021405-NLA NLA - Shoe, Wheel Lock 1 111
1085267-NLA NLA - Wheel Lock Assembly - Right 1 112
1085268-NLA NLA - Wheel Lock Assembly - Left 1 112
1112935-NLA NLA - Foot Release Assembly 1 113 F
1112937-NLA NLA - Foot Release Assembly 1 113 A
1112941-NLA NLA - Foot Release Assembly 1 113 B
1112945-NLA NLA - Foot Release Assembly 1 113 C

1055304 Screw, Socket Button Head (1/4-28 x 5/8") 1 414
47376X024 Tip, Rubber Wheel Lock Handle, Black 1 115 D

1128817 Package, Tip, Rubber, Black (Pkg. of 10) 1 115 E
90036X000-NLA NLA - Screw, Allen Head (1/4-28 x 1") 1 216

1079550-NLA NLA - Clamp, Non-Threaded 1 117
1079551-NLA NLA - Clamp, Threaded 1 118
1101207-NLA NLA - Screw, Set Socket Cone Point (1/4-20 x 1/4") 1 219
1085266-NLA NLA - Wheel Lock Clamp Hardware 1 220

A - 14-17" Wide chairs  
B - 18-21" Wide chairs  
C - 22" Wide chairs  
D - Before 9/02  
E - After 8/02  
F - 12-13" Wide chairs  

NOTE:

 


